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e Please check that this question paper contains 12 printed pages.

e (Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

e Please check that this question paper contains 27 questions.
e Please write down the Serial Number of the question before attempting it.

e |5 minute time has been allotted to read this question paper. The question paper will be
distributed at 10:15 a.m. From 10.15 am. to 10.30 a.m., the students will read the
question paper only and will not write any answer on the answer-book during this period.
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Wﬁ%{ﬂ:

(i)

G} 97 37T & |

(i) F¥T-G&IT 1-5 TF I 9F J97 T 37 &1 & | 57 J971 BT I I 20 Jeg] G 319

787 8147 T |

(iii) F¥T-G&IT 610 TF JIF T97 & 37H1 BT & | 57 F¥41 &1 b I 40 5] G 3714

781 8177 =T8T |

(iv) FoT-G&IT 11-16 T IeIF J97 TR bl H7 8 | 37 J971 &7 b I 100 31sg] &

37ferF 787 8147 11T /

(v) FH-GEIT17 @21 TF I 9% J97 Gid 37h] HT & | 57 I971 BT I8 I 150 1557 G

3717 7871 81T TET |

(vi) FF-GEIT21 HHIH R STIIRA J97 & | 3T I 91 I -JleiehT H 1671 |

(vii) FIT-G&IT22 & 27 7% TP 97 8: Bl HI & | 37 J371 & I4% IaT 150 57651 G

3717 7871 81T TET |

General Instructions :

59/1

(i) All questions are compulsory.

(i)

(iii)

(iv)

(V)

(Vi)

(vii)

Questions number 1 — 5 are of one mark each. The answers to these questions

should not exceed 20 words each.

Questions number 6 — 10 are of two marks each. The answers to these questions

should not exceed 40 words each.

Questions number 11 — 16 are of four marks each. The answers to these questions

should not exceed 100 words each.

Questions number 17 — 21 are of five marks each. The answers to these questions

should not exceed 150 words each.

Question number 21 is a map-based question. Write its answers in your answer-

book.

Questions number 22 — 27 are of six marks each. The answers to these questions

should not exceed 150 words each.
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. 1960 % gureh H, AL 3R FlfeTd T9 1 shi- €l g Hgwaqul Giel W gEaieii sl ? 2 x %=1

In the decade of 1960s, which two significant agreements were signed by the US and
the USSR ?

2. Sfag™ <hl ged FE€ TS 9’ by hal =T 7 1

What was called ‘the largest garage sale’ in history ?

3. 99 aF H §YH i WHITT ol 1 AU 8 7 1

What does hide strategy imply within the hegemonic system ?

4. GER oINS YA o JATHI H U T § TATS] 1 Toetd il 83T 7 1
How were the princely states integrated into Indian Union with the efforts of Sardar
Vallabhbhai Patel ?

5. STISITCl o U9, hIUS- YTl ol “Teh aUTl HTHTISTh T3EeH =1 Shal =T 7 1

By the time.of Independence, why was the Congress Party called a ‘rainbow-like’

social coalition ?

6.  ‘IIEAM Al hT 37 TT hIfVT | 2

Explain the meaning of the “ASEAN way’.

7.  9RA 3R 9T o &9 1965 T Ig BF oh &I ShRUT i 39T I | 2
Highlight the main reason behind Indo-Pakistan War of 1965.
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.  IAYGTHT 3T Iumeff o i 37T bl WY hHif9T | 1+1=2

Differentiate between a migrant and a refugee.

0. AT T HEIEAAT oh HIETH U & TIU[ ohl GHTH i b his &l 38 ffEu | 2 x 1 =2

Write any two examples of ending regional contlicts through mediation by the

ASEAN.

10. Torhrasiicl <21 bl SRATST JIeIehlcl ehl STEAATS & b o1 T@T T=T AT 7 2
Why were developing countries exempted from the requirements of the Kyoto
Protocol ?

11. STATE ATl Ha® <hl e <h TG st ideh STUTehIL <hl AT bl TIET0T ShITTT | 4

Examine the challenge of political succession after the death of Jawahar Lal Nehru.

12. <fIel <k ol dhiicdeh dic I hal Sl & ¢ T diel Tt shl THTH L ST AT|T AT
&l ? 379 I o4& H IUYTh b GIIT | 2+2=4

Why 1s Veto power called a negative vote ? Should the Veto system be abolished or
not ? Support your answer with suitable argument.

13. A YRA o Y&l diF A Il H, HRE o YA o [T ITGRIT HTehi o1 Tager ol
%’Q | 4

Analyse the factors responsible for the Congress dominance in the first three general
elections 1n free India.
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4. 1995 4 9RA 4 YEV[-FAYGR A (TH.H.E.) 1 AMTad e o [T FgH 1 &0y
7 ferar ? 4

Why did India oppose the indefinite extension of the Non-Proliferation Treaty (NPT)
in 1995 ?

15. 1975 Y TP ATUTdeRIA shl HTYUT Shid o TR R fCU T ShRUTT oh1 fIATUl Shifu | 4

Analyse the reasons given by the Government for declaring a National Emergency 1n
1975.

16. TS T oh QU JTHehal TSTHIideh GeAl oh si= IWId] HEHId o fehedi = HEl shl S0
ﬁﬁﬂll 4

Describe any four 1ssues on which a broad consensus has emerged among most
political parties of India during the coalition era.

17. “faeh™ @ I g1 IH-AH Hisdd U, YR - 399 H Tohl ol Tg1 AT | Ysagl Aigd §
oI ST S BIAT & | YA = I8 TET T&l ST | YA o T o1 FHSiarg) Arsel Wi
&l U | 39 GHI &1 HiSed ohl e Ueh STAl ohl of ToTdT AT 3R 39 1 § 378 0ol —S[et
€9 H AW fohan T | 3H RO YRA AYTEEAT Dl THINA-AYTTT gl SI1dT & |
et — TR, SATIR 3T I 6T TUsh dST 9T TS &7 o6 B1U1 H @7 | TSI 4 A9 g1 H
YT IR bl T S 39 SMURHA BT S FohIT | TST 9 SR bl 0T Th3T 37X
SN % &F § S s gy fohu |7

S TGU MU ST hl LY Ui a1 H=feTiad Il o 3t giig :

(i)  TorhTH.<h YSiieTal TSl shi YOI Shl TIE iU |

(i) TorehT& o FHTSIETE! HISH shl Y& To=INdT sl ITTR I |

(ili) WA g 3HIATY T THA-JA TS hl HATAEHT o feheal o TogAT <hl SHTEAT
I | 1+1+3=5

Study the following passage carefully and answer the questions that follow :

“India did not follow any of the two known paths to development — 1t did not
accept the capitalist model of development, nor did 1t follow the socialist model.
Elements from both these models were taken and mixed together in India. That 1s
why 1t was described as ‘mixed economy’. Much of the agriculture, trade and
industry were left in private hands. The state controlled key heavy industries,
provided 1ndustrial infrastructure, regulated trade and made some crucial
interventions in agriculture.”

(1)  Explain the concept of the capitalist model of development.
(1) Highlight the main feature of the socialist model.

(111) Explain any three points of criticism against the mixed model adopted by India.
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18. “3IMUTdehIe] 3T $Heh TTHUTH hi (Y hl 8H YT Hehe ohl A1 o &9 H H <@
Hehd & i TR & i ik TevST HAUTHH HEY JTATAHRIA o Gl H AT | gl T
I TSHITdeh Hehe 1 HY G 2T | Il 9Tl o U1d YUl sigHd o7 | T Y, 38 Adca A
AThdd ol 3 Hid bl HAAT AT | YA GiAU™ o HHICGIAT ol fagarg a7 fop g
USHITdeh T dAlehdIi=eh HHehl bl YT Ul | I3 I8 Hl Tavam™ AT Toh Ul hi
feafa o ot 9teer 1ol STETaRuT SrkAT 1 SEaET Tafy o 99 & gRR | @d 8U &l
ST |7

ST QU T 31T ST SIHYEe HETIA shifore a7 =i fgu 7T ge4i & ¥ feifian

(1) FAYTh G99, TLhI o Tohd G 371 b &9 AT ?

(i) 1975 H HATIATAhIA HITHd Shid o i3 &l HRUT TIE hIToT |

(iii) ATITATA o SR B3 fehal Gl SATGIAAT hl IATR hITTT | 3

Study the passage given below carefully and answer the questions that follow :

“The Emergency and the period around 1t can be described as a period of
constitutional crisis because 1t had its origins 1n the constitutional battle. On the other
hand, 1t was also a period of political crisis. The party in power had absolute majority
and yet, 1ts leadership decided to suspend the democratic process. The makers of
India’s Constitution trusted that all political parties would basically abide by the
democratic norm. Even during the Emergency, when the government would use
extraordinary powers, its use would be within the norms of the rule of law.”

(1) The constitutional battle was drawn between which two organs of the
oovernment ?

(1) Explain any two reasons that led to the imposition of emergency in 1975.

(11) Highlight'any two excesses that took place during emergency.

19. i QU U 3790l b1 LAHYG 1L hitod IR $H I JTETHA THT o I TeTia

“UTA h! T[¢—THTUSAAT hl =i = a1 TehRIcHes At 3T 7 & HIShIar i | YRa Aaggehiai=
g IgaT hl STehS ol GIGi Shid oh ToTT STAEII ATHCI H Aishd Y ¥ ST i o &l |
T | % AR o Td H, 72— HTUeTdT shig UET aUPT 3¢R ATG¥ ol Al 9Rd o drdiaeh
f&dl & "l 781 @Wrdl | 9= 1 I8 @ Tob 7 -T1ueT gi¥ehivr 4 whg alishl & WA <kl Tad A4 2 |
qEdl F, VR <hl TE—THTUETT <hl Hifd hl FTA=HT Wi g TN /B T3 17 1+2+2=5

(1) Sfaggehreia Sldagigdl = sa el Teh UTH T9Y o1 I i Sfal YRd
HETEAAT hich Jg - dATetl bl ST ThAT & |

(ii) TE-TTaerdr = Tohd g aliehl | ARAT T2l bl ATET 8 7

(iil) AR hl T[S hl Hifd o {e%g AT o Tehegi &1 fogAT ohl IR T |
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20.

59/1

Read the following passage carefully and answer the questions that follow :

“India’s policy of non-alignment was neither negative nor passive. India was in
favour of actively intervening in world affairs to soften Cold War rivalries. Non-
alignment was not, as some suggest, a noble international cause, which had little to
do with India’s real interests. In fact, a non-aligned posture served India’s interests 1n
many ways. On the other hand, India’s policy of non-alignment was criticized also on
a number of counts.”

(1)  Give any one example of a contlict between the Cold War rivals where India
mediated to soften the warring factions.

(11) In which two ways did Non-alignment serve India’s interest ?

(1) Highlight any two points of criticism against the India’s policy of non-
alignment.

(&) TEY FfeAs ek ford <31 &1 Ui st g 7
(@) 3Tl gl qX Torf¥ra Tl b ToTd gU ATHI ol 1 Haw & ?
(1) 39 IgA H H H1 HEYUl He¥ 0 W2 7
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Study the cartoon given below carefully and answer the questions that follow :

T g oL

- L ]
P i,

*****
lllllll

p— -I
FT L
“p

3 "'.‘ .'—::. F‘.:-
NS S RY
3
b R
5 £ 8

 oa

- 5
2 LT W
L =

wars Caglacartoons coimn

(a) The mighty soldier with a weapon represents which country ?

(b) What 1s the significance of the names of various countries written on his
uniform ?

(c) What important message does the cartoon convey ?

e ;. TEfeTRad S shaet gRaTierd TETRITT o oI S9e T&AT 20 o T W3 -

20.1 ‘F=Ed’ I IRYTST fiRay |

20.2 9= I YT bl goed H 3T T8 HIT |

20.3 3AH{h! 9 ol Tehral ¢l STETAT i WY HiT | 1+2+2=5

Note : The following questions are for the visually impaired candidates only 1n lieu
of Q. No. 20 :

20.1 Define “hegemony’.

20.2 Differentiate between the hegemony of hard power and hegemony of soft
power.

20.3 Explain any two constraints on the American hegemony.
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21 P

feu T HRA o TSHIdS W@I-aHHE 8 9k T9 (A), (B), (©), (D) a1 (E) g1 gwiie T
& | 31 AT SR 10T 1956 o 9=t g1 | == S 718 STHehRI bl Fgral |, 34 Tl
ol TEITHU-AUT 39k Tat AT, TANT <hl T8 SAHhRT <hl shH GAT a7 Jaied 3181 i, 919

&l 718 ATfcTeh!  ®Y.H 31T 3T YI&dehl H feilay :

TN <kl T3 SR
<h! ShH GEAT

gaied 3781

Y <l 4H

(1)
(1)
(iii)
(1v)
(V)

(i) JIETT a9 1966 H &7 |

(i) 39 TSI I a9y 1987 H ST 747 |
(iii) I8 T=F 99 1960 H §==1 =47 |

(iv) I8 TST a9 2000 H e H 37T |

(v) 39 TSI 9Y 1972 H S=—1 T4
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In the given outline political map of India, five states have been marked as @, ,

@, @ and @ All these states were created after 1956. Identity them with the help

of the mmformation given below and write their correct names 1in your answer book
along with the serial number of the information used and the concerned alphabet

shown 1n the map as per the following table :

Sr. No. of the Alphabet concerned
information used

Name of the State

(1)
(11)
(iii)
(1v)
(V)

(1)  The state came 1nto existence 1n the year 1966.

(1) The state was created in the year 1987.
(111) The state was created in the year 1960.
(1v) The state came into being 1n the year 2000.
(v) The state was created 1n the year 1972.

10
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23,
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e : fefetiad yoa shaet gidaiera aherfRi o foT sod e 21 S WH W g
21.1 TS YIS JTAN T H shel qTid §3T 7

21.2 1956 | TS TAIS TN gRT Tohad Tl 2T Toha ohg IMTYA TSN o1 T34 Toha
T 7

21.3 IaHM H, YR H fehas U= q1 feha shg sféd Yewr 2 ? 14+2+2=5

Note : The following questions are for the Visually Impaired Candidates only 1n
lieu of Q. No. 21.

21.1 When was the States Reorganisation Act passed ?

21.2 How many States and the Union Territories were created by the States
Reorganisation Commission in 1956 ?

21.3 How many States and the Union Territories are there in India at present ?

1989 < U¥ETd, WA TSHITd H 31T fohrgl 9 & SGeTTal ol [O¥eiul shiel | 4 x 1% =6
YT
1985 H gU, TSiie ML -ANTIETA THSANd o TE&F TG b1 L& hilST | 9T H Ml
SEIC! oh ToTU T THAIAT gl deh Thel 53T ? TIT ThITT | 4+2=6
Analyse any four major developments in Indian politics after 1989.
OR
Examine the main provisions of the Rajiv Gandhi-Longowal Accord of 1985. How
far was the Accord successful in bringing back normalcy in Punjab ? Explain.
“"iferad T4 h [aeed o 99T, Arard] ¢l § § €4 o 1Y, YHd o 994 o8 Tofed
R 2 " HIE 7 ISEWT <o YA 6t gfE i | 3x2=6
I
9 AT TP AT (TH.375.3.371.) hl GRUM T 0 hd 3T ? 1972 H 379
forehl&d <M sl Y UgdaH o foiy, 31ehers (F.UH.HLA.TEL) g & ¥ IR UK
AT 7T 7T 7
“Among the post-Communist countries after the disintegration of the Soviet Union,
India’s relations with Russia have been the strongest.” Support the statement with any
three examples.
OR

How did the 1dea of a New International Economic Order (N.I.LE.O) originate ? In
1972, which four reforms were proposed by UNCTAD to benefit the Least
Developed Countries’ (LDCs).
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4. T ITCTAAAT o Teheal dlH ATHT T a9 ST=AT ST FUM <hiTT | 3+3=6
G

STEL! T <h Toreg 31| | 1979 H 1985 Teh §U 3ATGIei hl fehral =R TorINAT3A1 Bl UM
<hITSTT |

Describe any three advantages and three disadvantages of popular movements.
OR

Describe any four features of movement in Assam against outsiders from 1979 to
1985.

25. 1997 o §T¢ TIH TY TS gRI GLAT TS o TR YT ITEIR TG §-4 & folu
TEATIad fohral ©: HHCUST ohl TIF hiTTU | 3+3=6

3TYET
LT <hl YR YT oh AT HHSdT shl GLEAT dAT Afvaeh G hl ST hifT |

Explain any six points of new criteria for becoming a permanent or Non-permanent
member of Securing Council as proposed by members of UN since 1997.
OR

Explain non-traditional notions of human security and the global security.

26. TATIT GELT Tohrgl 19 HEAT I WA oh U&7 I [T HIT | 3x2=6
AT
ATl TehTuT oh TTSTHITcIeh TIUTHT ShT fgeTyuT ShifTT | 6
Analyse India’s stand on any three environmental 1ssues.
OR

Analyse pohitical consequences of globalization.

27. 4 I I T F gig T 1ol STUHTEAT S b [T T b Aqcd g 33TT 7T Teheal
IR hed[ Sl GUMH hHIfT | 6
GO
YR 3R ITTeh&d™ oh ST foa1g o Teheail 9 HeEl ol UM hilorg |

Describe any four steps taken by Chinese leadership to make it a fastest growing
economy.

OR

Describe any four 1ssues of conflict between India and Pakistan.
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